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Answers may be written either in English or in Hindj;

but the same medium should be used throughout the*

paper.

The maximum marks printed on the question paper are

.applicable for the students of the regular colleges

(Cat. A). These marks will. however, be scaled up

' proportionately in respect of the students of NCWEB

at the time of posnng of awards for comp1lal|on of result.
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. Attempt All questiofis. ;

' Marks are mdwaled against each question.
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Sonal Tubes Lid. are the manufacturers of picture tubes for V.

The following are the dctalls of their operanons during 2013- 2014,

'I:he consumptmn is 1300 units per quarter . ' 1
Ordering cost - Rs. 100 per order
Inventory carrying cost | 20% per 'Tdnnu_rn

Cost of tubes . . -Rs. 500 per tube .
Normal usage _ - IQO-u‘lbes per w'eek
Maximum usage o . 125:tubes pef week.
Minifnum'usage 75 tubes per week

Reorder_péﬁod o ‘ 6to$wacks
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" You are required to calculate :

Economic order quantity

Re-order level

Maximum level of stock

~ Minimum Ievel of stock.
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Sa;)rem Ltd. isa m_anl'Jfacn-nring company héﬁng three production -

departments A, B and C and two service depaﬁments'x and Y.

The following is the budget for January 2014 : I
Total A B C X v
(Rs) (Rs) (Rs) ‘(Rs) (Rs)

Direct materials 000 2000 4000, 20600 1,000 -

Direct wages 5000 2000 8000 1000 2000
Factory rent 4,000 |

| Power 2500
Depreciation 1,000

Overheads 9,000



Additional information ©
Area (sq. &) ° 500 2500 500 250 500

Capital value of

assets (Rs. Lacs) 20 0 2 0 10
Machine hours 1000 2000 4000 1000 1000
_HP of machines . S0 40 1] 5. 25

' A technical assessment of-the apportionment of expenses of

- service departments is as under-:

A B C X Y

. H
Service department X 45% 15% 30% - 1%
Service department Y - 40%  30% 10%  20% -
R . B { . L

You are required to prepare statement showing distribution of
overheadsto various departments and distribution of overheads
of service departments X and Y among departments A, B, & C.

P.T.O.
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(gain) account.
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®:
A | B .C X Y
@mﬁﬁm X as%. 1% W% - u;_%
: ﬁarﬁrm Y 40% _30%. 0% 2% -
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Product X.is obtained after it passes through three distinct
processes. You are required to prepare Process aicéodms, Norinal

loss accounts, Abnormal loss accounts and Abnormal effective
11
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10,000 units @ Rs. 10 per unit were introduced in process |.

Total | Process 1} Pracess 2 Process 3

Materials (in Rs.) 15,000 | 5200 | 3900 1 5900
Wages (in Rs.). . 18,000 4000 | 6,000 8;000
" Overheads (inRs) | 18000| 4000 | 6000 | 8000
Actual out.put (units) | 9500 l8,400 | ‘ ?,500
Normal loss” | % | % | 1%
Value of scrap

(i{s. per unit) 4 1 8 _ .10'
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gt (7 86) | 1s000] 5200 | 3900 5900

. e (7 H) [ 1s000| 4000 | 6000 | 8000
e (3. #) | 1s000] 4000 | 6000 | 8000
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Kartik Translport Co. has been given a route of 40 km. to run a
bus. The bus costs the company Rs. 50,00,000. It has been insured
at 3% of cost per anhum and annual tax amounts tc; Rs. 1,00,000. '
Carage rent is Rs. 10,000 per mont-h. Annual repe_\ir will be

R 1,00,000 and the bus is likely to last for § years.
PT.O.
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fh? drivér salary will be Rs. 15,000 pér month and conductor
salary will be Rs. 10,000 per month. Cost of statfonery will be Rs.
5,(;!00 P.M. Manager salary is Rs. 20,000 per month, Diesel and oil
* will be Rs'i £.500 per 100 km. The bus will_make 3 up and down
trips g:arrying on an average 40 passengers to each side. Assuming
* 25% profit on takings, ;:alcu]ate the bus fare to be charged from-
each ﬁassenger. Tﬁe. bus will run on an average 25 days on a
month, | - o 11
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(@)  Distinguish between marginal —(lznst'ing and absorption

coasting. = . . o B 4

(k) The turnover and profit of Akshat Lid. during two periods

‘were as follows : ' . . 7
| Particulars - | Period I | Period 11
Sales (in Rs.) 50000000 | 75000000
" Profit i Rs) 50,00.006 | '1.00.09,000 :
Calculate :
@ PV fatio

(i) Break even sales
(iif)  Sales required to earn a profit of Rs. 1,25.00,000
(fﬁ) Profit eamed'when_ sales are Rs. 3,50,00,000.

P.TO.
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Accounting.
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Richa Lid. undertook a contract for Rs. 50;00,000 on Ist
January, 2013, The company fumishes the following. details

for the year ended 3 1st Dec. 2013

Rs.

Mate‘tl'ials sent to site . ' 19,50,000
Direct expenses ’ | 50000 -
Wages | 300,000
Materials', return to store ' - 50,000
Mater_ianalss stolen from site g 1,00,000
Insurance claim admitted o | 60000 -
Other works overheads are 20% on wages

Office expenses . ' '2,I0,000
Material in hand on 315t Dec. 2013 150000

Cash received being 90% of work certified 27,00,000

A"

Cbsl of work uﬁcertiﬁed- 1,10,000

Plant sent to site cost Rs. 6,00,000 with a scrap value of
1,00,000 and a useful life of 5 years. The plant is still at
the site. Prepare contract account showing the amount of

profits to be transferred to Profit and Loss Account. 7

_ Distinguish between Financial Accounting and Cost

4
PT.O.
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The 'followm" figures have been extracted from thel

financial accounts of manufacturing firm for the first year of

 operatioris 1 - ' \
Particulars . Rs.

' ,birect material consumlption : 25.00,000
Di'.rect \\;ages . ' " 15.00.000°
Factory _overheads ' . _ ' 800,000

Adm_inislrgtive ox;e'rhcads_ 3,50,000
Selling and aistrib'ulion ovgrheads . : 480,000 ¢
Bad debts - _ , - . 40,000
Preliminary expenses w'ritter.\ off © 20,000
‘Legal_charges 5,000
Dividends.rcceived i 50,000
Interest received on deposits . 10,000
Sales(1,20.00'0-units) - 6000000

'Ciosmg stocks :
Finished Goods (4,000 dnits) S 160000

Works in progress 1,20,000

The cost account for the same period reveal the direct material
consumption was Rs. 28,00.000 Factory overheads are recovered

at 20% on prime cost. Admmlstratwe overhead recovered 1S

PT.O.
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Rs. 3 per unit of pi'oduction. .Sening and distribution overhead are
recovered at Rs. 4 per unit sold. Prepare the Profit and Loss
Account as per'ﬁnancial accountand calculate prbﬁts by preparing

cost sheet as per cost records.-Reconcile the profits .as per two

_ records, 11
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. (a_) Diéﬁnguish between periodic and perpetual inventory -

system. 4

(b) Explain the term cost centre and cost units with suitable

examples. 3

(c) - ' Explain allocation, apportionment and absorption of
4

overheads factory.
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What is idle time ? Explain normal and abriormal idle time

along with treatment in cost accounts. .5

What do vou mean by labour turﬁover ? Explain various
methods for i;s measurements. o _ ' 6
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~ The expenses for budgeted production of 10,000 units in a factory

are as follows :

. P_art_iculgr_ _ _ Rs.
Ma.l-terial 70
,AL'abdlu'l_“ s
V;ar%abié:bverl]ead ' 20

" Fixed (;verhcad '(_Rs. 1,00,000) | R
Variable expenses {Direct) -5
Selling expenses (! 0% fixed) 13
Qistribution expenses (20% fixed) | 7
Adminisrra.tive expenses (fixed) Rs: 50,000 5

Total cost _ 155

——

Prepare a budget for production of 8,000 units, and 6,000 units

showing the cost per unit and total .cost. - _ [}

- PTO
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